SEEEEEER. SELF-ASSESSMENT TEST SRR

Time allowed: 1 hour

Max. marks: 40

SECTION A

1. Choose and write the correct option in the following questions.

4x1=4)
(1) Every rational number is
(a) a natural number (b) an integer
(¢) a whole number (d) a real number
(21) J8 X ‘/ﬂ is equal to
(a) 2/6 (b) 5v12 (c) 948 @) 83
2-1
(i) 1f Y2 = 1.4142, then %—1— is equal to
(a) 2.4142 (b) 5.8282 (c) 0.4142 (d) 0.1718
(tv) Which of the following is equal to x ?
12 5 1 3 12 7
@) x7 —x7 ®) 12V (x*)3 ©) (3/x2)2 d) x7 X x12
2. Fill in the blanks. 3x1=3)
(z) Ois a number.
(i) If x & y are two irrationals numbers then an irrational number always lies
between them.
(1) For every real number, there exists a point on the number line.

3. The following questions consist of two statements—Assertion (A) and Reason (R). Answer
these questions selecting the appropriate option given below:

(a) Both A and R are true and R is the correct explanation for A.
(b) Both A and R are true and R is not the correct explanation for A.
(c) A is true but R is false.

A is false but R is true. Bx1l=

Real Numb ers
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(i) Assertion (A) ¢ The simplest torm of 0.54 I T

hose 1|N ll||.|| “\||,||l\lul| 18 ¢ rimnating oy Non "‘|
o

Reason  (R) @ A number w
Ay,

recurring u'('pv.mn;.:) is ratonal
O

S 054
) |l

(i) Assertion (A) : (5+, Q)+ (b V) isa pattonal,
onal numbers may be rational or irrational
0
P
umber between 4 and Has 9

Reason (R) : Sum ol two irrat

(1) Assertion (A) : A rational n
; 14}

: hetween two rational numbers @ and b is aro

Reason (R) : A rational pnumber between twe i iy =22

m Solve the following questions. (X 25
) ‘ TR 2 P4
4. Express 0.134 in the form ol (/1 , where p and g are mtegers and g # 0. INCERT | e

. T8 - ) 6 N
5. If V2 =1.414 and {8 =1.782, then find the value ol \/\)/ up to three places of decimal,
3

6. Simplify: gf,.ﬁ .| ‘_.Z—_\/—i

2-V8 243
m Solve the following questions.

3

7. Simplify: (25(;)“(4")
b-¢) b \¢
: xu( X
8. Show that | —| = l.
x_;(u ¢ x”

9. Simplify the following:

[NCERT Exeml

) |
© Fef2-b
B2 V543
W78 Jb-2
10. Simplify:
; 4J§__+_ 35 v 55
O =3B JI0-v8 V6+5

2 . I
(i) 128 7 —(6257") 1 +14(2401)
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® Solve the following questions.

1 1 1 1
11. Evaluate: - - +ot———
2+1 B2 J4+3 J9 ++/8

1
12. Find the value of —ﬁ-:-_j—_——l_

13. Ifa=8+ 3\/7 and b= l then what will be the value ofa® + b*?
a

3 x4=12)

correct to three places of decimal if J2=1.414 and J6 =2.45.

10. ()

Answers
1. () (@) (i) (d) (1) (c) (1) ()
9. ()real (i) Yxy (iii) unique 33
3. (i) @) (i) (a) (iii) (a) 4. 560 5. 0.837

7. % ot V2 + 21‘45 + 30 (i) -85

 168-28,/30-96y15 + 36042 .. 491
1 21 (n) 4

. B 12. -1.466 13. 254
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R, StLr-ASSESSMENT TEST A

ime allowed: 1 hour Max. marks: 40
SECTION A
1. Choose and write the correct option for each of the following questions. 4x1=4)
() If p(x) = 3x* + 6x — 24 then p(-2) is
(a) 48 (b)24 (c) 24 (d) -12
(ii) The value of 300? — 2997 is
(@) 1* (b) 499 (¢) 600 (d) 599
(1) One of the factors of (25x%-1) + (1+ 5x)2 is [NCERT Exemplar]
(@) b +x (b)b —x (c) bx -1 (d) 10 x
(iv) If x — 2 is a factor of the polynomial 9x? + kx — 15, then the value of k is
@7 )7 © 5 @ %
2. Fill in the blanks. 3x1=23)

(i) If (x — 2) is a factor of the polynomial p(x), then p(2)
m) If px) = x® — 2x + 2 then p(-2) =
(i) If p(x) = x* - 5x + 4 and q(x) = x> + 1 then p(1) X ¢(1)
3. The following questions consist of two statements—Assertion(A) and Reason(R). Answer thes
questions selecting the appropriate option given below: '

(a) Both A and R are true and R is the correct explanation for A.
(b) Both A and R are true and R is not the correct explanation for A.
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(c) A istrue but R is false. i
(d) A is false but R is true. ]
(i) Assertion (A) : Ifp(x)
Reason (R) : If polynomial plx) is divided by (x = a),
Bd-2/2p=(a- J2b)(a®+ ﬁab+2b2)

B = @-bya +ab+b)

v ox? + 3k + 1 is divided by (x + 1), then remainder 1s (),

then remainder is p(a).

(i) Assertion (A) :
Reason (R) :

: 3 13
(iii) Assertion (A) : If%-l——z—=—l, then the value of (@ -b”)is 0.

Reason (R) :a’-b"= (a-b)@* + ab + b%)

SECTION B
® Solve the following questions. 3x2=6
4. Find the value of the polynomial 3x® — 4x? 4+ 7x — 5 when x = 3.
5. Ifpx) = x® —4x + 3, evaluate p(2) —p(-1) + p (%)
6. Ifpx)=10x- 4x* - 3, and g(x) = (x + 2)(x — 2). Then find the value of p(0) X ¢(3).
® Solve the following questions. (4 x3=12
7. Find the remainder when p(x) = x° — 2x° — 4x — 1 is divided by g(x) = x + 1.
8. For what value of m, is x° — 2 mx* + 16 divisible by x - 2?
9. Simplify: (2x - 5y)’ - (2x + 5)°
10. Ifx-2andx —-lé- are factors of px2 + 5x + 7, show thatp = 7.
E ® Solve the following questions. Bx4=1l
\ 11. Ifa,b,c are all non-zerosand a + b + ¢ = 0, prove that -‘ﬁ + ﬁ - i =3
; B BrcGB Eoabe 4
\ 12. Ifa+b+c¢=5andab+b =
13. Prove that (z + ;‘:_ a3 sc +3m 3 10, then prove thata® + b* + ¢* - 3 abe = — 25.
' €)' =a"=b"—c” = 3(a + b)b + ¢)(c + a).

Answers
1. () (c) (1) (d) (1) (d) () d)

2. (1) 0 () -2 (u1) O

3. (1) d)

() (a) (iii) (a)

5' _? 60 _15 7- 0 8 3
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IR, SELF ASSESSMENT TeST ANERSIEET

Time allowed: 1 hour

Max. marks: 40

SECTION A

Choose and write the correct option in the following questions.
(1) The equation x = 4 in two variables can be written as
@ l.x+1y=4
€) 0.x + 1y =4
() The linear equation 2x — 4y = 8 has

= 4x1=4)

b)x + 0y =4
(d)0x+0y=4

(a) A unique solution (b) Two solutions

(c) Infinitely many solutions (d) No solutions

(#1) The equation 2x + 5y = 7 has a unique solution if x, y are
(a) Natural numbers
(¢) Real numbers

[NCERT Exemplar]
(b) Positive real numbers

(d) Rational numbers
(tv) The graph of the linear equation 2x + 3y = 8 cuts the x-axis at the point

8
(@) (g’o) (b) (0, 4) (c) 4, 0) d) (0, %)
2. Fill in the blanks.

(3 x1=3)
(1) The graph of the line x = -9 is parallel to axis and is perpendicular to axis.
() If the line x + 3y = a passes through (-2, 2) then the value of 4 .

(1) The equation 3x + y = 7 meets x-axis at the point and y-axis at the point

3. The following questions consist of two statements—Assertion(A) and Reason(R). Answer these
questions selecting the appropriate option given below:

(a) Both A and R are true and R is the correct explanation for A.
(6) Both A and R are true and R is not the correct explanation for A.
(¢) A is true but R is false.
(d) A is false but R is true. Bx1=3)
(i) Assertion(A) : x +y = 6 is the equation of a line passing through the origin.
Reason (R) : Any equation of the form y = mx passes through the origin.
(ii) Assertion(A) : The graph of the linear equation 2x + 5y = 10 meets the y-axis at the
point (0, 2).
Reason (R) : Any linear equation ax + by + ¢ = 0 meets the y-axis when its x
co-ordinate is 0.
(iii) Assertion (A) : The point (b, 3) lies on the graph of linear equation 2x -3y + 11 = 0 then
b=-1.
Reason (R) : Any line parallel to y-axis is x = k.

SECTION B

B Solve the following questions. 3 x2=6)

4. Find there solution of the equation 2x + 3y = 5
5. If the point (4, -2) lies on the graph of 2x = ay + 3, then find the value of a.
6. Expressy in terms of x and check whether the point (-3, -2) lies on the line or not 3x - 2y + 5 = 0.

Linear Equations in Two Variables 73
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- following questions. s (4%3 = 12)
i %, Express the following linear equation in the form ax + by + ¢ =0 and indicate the value of 4

£ / o -2-+y—5=0
s .

Vi / 8. Solve forx: 3x+11 +g = __2- +18. What will be the graph of the equation?

¥ g ~1 or
ff 9. Check by substituting whether x =6 and y = -3 is a solution of equation 2(x ~1) = 5y =1 or no,
7 Find one more solution. How many more solutions can you find?
f 10. Draw the graph of the linear equation 2x = y +3. At what points the graph of the equation cuy
/ - the x—axis and the y-axis.
® Solve the following questions. (3 x4 =12
1k,

The cost of petrol in a city is T50 per litre. Set up a linear equation with x representing the number
of litres and y representing the total cost (in rupees). Also draw its graph.

12.  The force exerted to pull a cart is directly proportional to the acceleration produced in the body

Express the statement as a linear equation of two variables and draw the graph of the same

by taking the constant mass equal to 6 kg. Read from the graph, the force required when the
acceleration produced is

(1) 6 m/s> (ii) 5 m/s>
13. Draw the graph of x = 3y — 4 . Find the:
(1) value of y whenx = - 1.

[INCERT Exemplar]

(1) value of x when y = 5,

Answers
; e \\M*‘
L. @) () (i) (c) (i) (a) @) () —
2. )y x (i) 4 (ui) (% O) (0,7)
3.0) @) (i) (a)

(@1) (b)
£03)(3.0(21) 5,2

1.2 =
2+y 5 Oa—gb_lc.__5
9.Yes, x =

4,9=1, infinjte 10. (g O)
3.6)y = 1 (ii) 1 3
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SELF-ASSESSMENT TEST AERENINNNNN

Max. marks: 4

SECTION A

Choose and write the correct option in the following questions. 4XxX1=4yg
1. 005

nt (5. =3) lies in the
i l;’)'“;l:[ qt)JJa}cllram (b) Second quadrants
(c) Third quadrant (d) Fourth quadrants
(ii) The point at which the two co-ordinate axes meet is called the
(a) abscissa (h) ordinate (c) origin d) quadram
(iii) If x-coordinate of a point is zero, then this point always lies
(a) in I quadrant (b) in 11 quadrant
(¢) on x-axis (d) on y-axis

(iv) Abscissa of a point is positive in

(a) 1 & 11 quadrant (b) 1 & IV quadrants
(¢) I quadrant (d) 11 quadrant only
2. Fill in the blanks. (3 x1=3

(1) Equation of y-axis in
(#) Co-ordinate of origin
(uz) Point (-2, -3) lies in quadrant.
3. The following questions consist of two statements—Assertion(A) and Reason(R). Answer these
questions selecting the appropriate option given below:
(a) Both A and R are true and R is the correct explanation for A.
(b) Both A and R are true and R is not the correct explanation for A.
(c) A is true but R is false.

(d) A is false but R is true. (3 x1=3

(i) Assertion (A) : The point which lies on the line ¥ = 3x having abscissa 2 is (2, 6).
Reason (R) : Aline parallel to x-axis is y =k
(i) Assertion (A) : Ifa # b, then (a, b) = (b, a).
Reason (R) : (-3,2)lies in quadrant 1V
(iit) Assertion (A) : The point 4 (- 5, 0) lies on x-axis.
Reason  (R) : Every point on X-axis is of the form (x, 0).

SECTION B

® Solve the following questions,

4. Plot the following points and check

. wheth
. o €r these are collinear OT not
5. Plot the point P Jesg 4

B3x2=6
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= (.25 unils IN('IL'R'I‘ Exemplar|

’ l or, piis - 0, 96 CLR R g
CTENNIED BT e

ihe foll0 owing questions. = N
!W | pmms =3, 0), (5, 0) and (0, 4) on Cartesian plane. Name the figure formed by D
{ the . » ‘ r
i pmm and find 1ts area.
thes¢
g IV which quadr

49,82 (4 0) 3, 3), (=4, -H)

=%
Three yertices of & rectangle are (<1, 1), (5, 1) and (b, 3). Plot these points and find the coordinates
A v'll

of the fourth vertex.
dsome ordered pairs (x,y) such thatx + 3y = 6 and plot them. How many such ordered pairs can

ant or on which axis does each of the following points lie?

0, Fin
b found and plotted?

¢l the following questions. (3 x4=12)

II. Write the coordinates of the vertices of a square whose each side is 5 units, one vertex at (2, 1) and all
the vertices lie in the same quadrant.

I Draw the quadrilateral with vertices (- 4, 4), (-6, 0), (- 4, - 4), (-2, 0). Name the type of
quadrilateral and find its area.

3. Plot the points P (1, 0), Q (4, 0) and S (1, 3). Find the coordinates of the point R such that PORS is a

Square, [NCERT Exemplar]
toers

;' 0 ) (idi) (d) (iv) (b)

06 0,00 (i) 1

4' DO iy ) 4) (3)

'(')YCS (i) No 5. M4, 0), N(0, - 6) 7. ‘Triangle; 16 sq. units

lﬂ qlladram IV quadrant, x-axis, I quadrant, 111 quadrant 9. (-1,3)

( ), (6, 0), 3, 1); infinite

e 6), (2, 6) 12. Rhombus, 16 square units  13. (- 1,3) .
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